Transfers Report

This report contains the transfers results.

Contest Name	Ward 8 - Lower Braes
Valid Votes	5,159
Positions to be Filled	3
Quota	1,290

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Scott FALLON	Alba Party for independence	67
Gordon FORREST	Scottish National Party (SNP)	1,205
Anne HANNAH	Scottish Labour Party	1,393
James KERR	Scottish Conservative and Unionist	1,204
Adanna Bridget MCCUE	Scottish National Party (SNP)	825
Doug SHEEHAN	Scottish Green Party	298
Ashley Hunter WARD	Scottish Liberal Democrats	167
	Total	5,159

Candidate Anne HANNAH Elected with 1,393 votes, being in excess of the quota of 1,290

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Anne HANNAH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Scott FALLON	29	0.07394	2.14426
Transfer to Gordon FORREST	111	0.07394	8.20734
Transfer to James KERR	288	0.07394	21.29472
Transfer to Adanna Bridget MCCUE	72	0.07394	5.32368
Transfer to Doug SHEEHAN	159	0.07394	11.75646
Transfer to Ashley Hunter WARD	383	0.07394	28.31902
No further preference	351	0.07394	25.95294
Not transferred due to rounding			0.00158
	Total		103.00000

103.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Scott FALLON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon FORREST	24	1.00000	24.00000
Transfer to James KERR	2	1.00000	2.00000
Transfer to Adanna Bridget MCCUE	11	1.00000	11.00000
Transfer to Doug SHEEHAN	11	1.00000	11.00000
Transfer to Ashley Hunter WARD	6	1.00000	6.00000
Transfer to Gordon FORREST	6	0.07394	0.44364
Transfer to James KERR	2	0.07394	0.14788
Transfer to Adanna Bridget MCCUE	3	0.07394	0.22182
Transfer to Doug SHEEHAN	3	0.07394	0.22182
Transfer to Ashley Hunter WARD	7	0.07394	0.51758
No further preference	13	1.00000	13.00000
No further preference	8	0.07394	0.59152
Not transferred due to rounding			0.00000
	Total		69.14426

69.14426

Transfers Report

This report contains the transfers results.

201.83660

Stage 4 - Exclusion of Ashley Hunter WARD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon FORREST	9	1.00000	9.00000
Transfer to James KERR	63	1.00000	63.00000
Transfer to Adanna Bridget MCCUE	6	1.00000	6.00000
Transfer to Doug SHEEHAN	49	1.00000	49.00000
Transfer to Gordon FORREST	19	0.07394	1.40486
Transfer to James KERR	102	0.07394	7.54188
Transfer to Adanna Bridget MCCUE	16	0.07394	1.18304
Transfer to Doug SHEEHAN	111	0.07394	8.20734
No further preference	46	1.00000	46.00000
No further preference	142	0.07394	10.49948
Not transferred due to rounding			0.00000
	Total		201.83660

Report Name: Transfers_V0001_Ward-8---Lower-Braes_06052022_173651.pdf Created: 06-5-2022 17:36:51

Transfers Report

This report contains the transfers results.

7.98448

Stage 5 - Surplus of James KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Doug SHEEHAN	172	0.00615	1.05780
Transfer to Doug SHEEHAN	79	0.00045	0.03555
No further preference	1,028	0.00615	6.32220
No further preference	281	0.00045	0.12645
Not transferred due to rounding			0.00373
	Total		7.98448

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Doug SHEEHAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon FORREST	80	1.00000	80.00000
Transfer to Adanna Bridget MCCUE	150	1.00000	150.00000
Transfer to Gordon FORREST	33	0.07394	2.44002
Transfer to Adanna Bridget MCCUE	48	0.07394	3.54912
Transfer to Gordon FORREST	35	0.00615	0.21525
Transfer to Adanna Bridget MCCUE	37	0.00615	0.22755
Transfer to Gordon FORREST	23	0.00045	0.01035
Transfer to Adanna Bridget MCCUE	24	0.00045	0.01080
No further preference	128	1.00000	128.00000
No further preference	192	0.07394	14.19648
No further preference	100	0.00615	0.61500
No further preference	32	0.00045	0.01440
Not transferred due to rounding			0.00000
	Total		379.27897

379.27897